Electronics I * Exam II * August 12,2010 * 90 minutes * closed books and notes
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$) For the rectifier circuit below, the peak-to-peak ripple 1s required to be less than 4 % of the peak

voltage. Find the minimum value of C for a load current of 400 mA. min C =
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2) Find the operating points of the transistors given below:
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3) Design a common collector BJT amplifier such that the BJT has 1.5 mA collector current. Find
its voltage gain, input resistance and output resistance when it is operated with a signal source
whose output resistance is 1 kohm and a load of 75 ohms. (=300, Vcc=9 V)
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